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Time allowed : | Hour 30 Minutes
Number of Questions - 100
Full marks : 200
All questions carry equal marks.
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INSTRUCTIONS

Candidates should read the following instructions carefully before answering the questions:
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This booklet consists of 28 pages including this front page. Verify the page number of the
Question Booklet on each page. If there is any discrepancy, bring it to the notice of the
Invigilator. This Booklet contains questions in 2 languages i.e., English and Ben gali. In case
of any doubt/discrepancy in the translation into Bengali language, the Board will rely on the
English version.

Answers will have to be given in the Special Answer Sheet (OMR Answer Sheet) supplied
for the purpose, which consists of two pages. Do not tear or separate any page of the OMR

Answer Sheet.

. Before you proceed to mark in the Special Answer Sheet in response to various items in the

Question Booklet, you have to fill in some particulars in the Special Answer Sheet. You must
also write the Question Booklet No. on the Attendance Roll. Do not fold the Special Answer

Sheet as this will result in error in your marks.

All questions have four probable answers (A), (B), (C) and (D). Find out which of the four
answers appears to you to be correct or the best. Now darken the oval corresponding to the
letter of the selected answer in the OMR Answer Sheet with Black Ball Point Pen issued by
WBPRB as per instructions sent along with the Admit Card.

If more than one oval is encoded for a particular answer, it will be treated as a wrong answer.
Vith of the allotted marks (i.e., 0.50) will be deducted for each wrong answer.
There are blank pages at the end of this booklet for Rough Work.

The Special OMR Answer Sheet (both pages intact) should be handed over to the
Invigilator beforeleaving the Examination Hall. Candidates are then permitted to leave
the hall with the Question Booklet. The Special Answer Sheet (OMR Answer Sheet) is
the property of the Board and must be returned to the Invigilator.

& Exampapers 247

[Please Turn Over)



1. In which year Indian Citizenship Act was
passed?

(A) 1955
(B) 1957
(C) 1952
(D) 1958

2. Which of the following is notan example of
Living Fossil?
(A) Sea-urchins
(B) Limulas
(C) Sphenodon
(D) Coelakanth

3. Select the missing number from the given
responses:

3 2 2 | -1 6 | 5

4. 24 2| 4 0?2

A 11
®) 0
© 1
(D) 30

4. Theterm ‘Yavanpriya’ mentionedinancient
Sanskrit texts denoted
(A) Dance performers
(B) Pepper
(C) Ivory
(D) Fine variety of muslin

5. By which constitutional amendment
fundamental duties have been incorporated into

Indian Constitution?
(A) 9
- 42

(C) 38
(D) 76

& rampapers 47
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l.wmmﬂmﬂﬁwwﬁﬂmﬂ?

(A) 1955
(B) 1957
(©) 1952
(D) 1958

2. M5 I 2 FaE SACIR TAZIATH 2
(A) MN-wfbw
(B) T
(C) CHTCH
(D) I

3. S fBafoe 2leS Zwe SoRe <1

 F9?
3| 2 N I | 6 | 5
4 | 24 2| 4 0| ?
(A) 11
(B) 0
(©) 1
(D) 30

4. AB Aege ATy TR TS RS
@NHEE QRN 29 ?
(A) Tyttt
(B) (NeTIES
(S REUCERIN)
(D) TeFB I e

5. FeON RN NI YW OISRy
Ry e el weve =t =0
(A) 92
(B) 42
(©) 38
(D) 76
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6. Inacertain colde 2'5? (ngeans ‘b%oks are ofd‘ .
46 means ‘man is old’ and 378 means ‘buy good
bSoks’. What stands for ‘are’ in that code?
(A) 5
(B) 6
o2
(D) 4

7. The title given by British Government to
Mahatma Gandhi which he surrendered during the
non-cooperation movement was

(A) Bharat Ratna
\_(BY Kaiser-e-hind

(C) Frontier Gandhi

(D) Rai Bahadur

8. If the diagonal of a square is doubled, then
how much time will be its area?

(A) two times
UB) four times
(C) three times
(D) same

9. Whichofth owing is not an example of
non—ﬂw
7 Pinus

(B) Algae
(C) Spirogyra
(D) Agaricus
10. Seven persons A; B, C, D,E, F and G are
standing in a straight line. ¢
D is to the right of G.

AN

C is between A and B.
E is between F and D.

There are three persons between G and B.
Who is on the extreme left?

(A) A
B) G
(C) D KoY
(D) B G A2
D
C Bk D

«

el =
E' B
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6. 93 Merafe FrfITe 253 M “books are
old’, 546 WA ‘man is old’ €32 378 Nt ‘buy good
books’ T ‘are’-aq LTS Fl 7T 2

(A) 5
(B) 6
(C) 2
(D) 4

7. G IR TGS 2 1 SolfafS sty sy

(A) Sy
(B) @iz@ig-a-fzw
(C) o st
(D) ATIRMI
8. M 93 35Trwiaa o wd a1 20, sra v
(FaFe] T @ 719 ?
(A) fawe
(B) vraed
(C) Tomae
(D) 9T A/

9. FeHe @A 2 S SR S 72
(A) stiza
(B) TR
(C) iiEzatanEan
(D) Spishf=e

10. >reew If& A, B, C, D, E. F @32 G 93
IR Wi sies |

D, G-93 UiHfuts s |

C, A 938 B-3 WRIRIH =0z |
E, F @32 D-3 R Sy |

G R B-1 YRR o wfe @iz |

a3y A @ Wivw s e
(A) A (_) w\
O (B) G Q,C & B
~ ©k
g; \ (DB

E
;

=

y-
e



11. Toder MAl was associated with
Law

(B) Literature
(&) sic
(Finam:c

12. Which is the Ieag/n’umber that should be
added to 2055, so th_arﬂre sum is exactly divisible

by 277 ~ -
”

72
(B) 27
(©) 31
(D) 28

13. Two of the Mughal. emperors wrote their
own memoirs. They were
(A) Jahangirand Shahjahan

ur and Humayun

B
\ﬁj/B:§ur and Jahangir

14. Anirban Lahiri is associated with which

sports?
\(A) Golf
(B) Horse racing
(C) Chess
(D) Polo

15. Which number is in all the geometrical

figures?

(5)

forag =itz ?

RB/SI_Sgt.(P)/21

Yo
11. (Broasa Aera 7o I forem ¢ NN :
(A) I ‘@7 ‘;’\/
(B) ifzs] *F.:\r:'
(C) e /3'
(D) ugﬁnﬁ; N
12. 2055-93 3 (le Faos 720715 s FA0E,
ere 27 Al fseeic faerey 20a 7 \qg
(A) 24 - \'\{%‘?{ \.34\
B) 27 K65 1«7‘)(
©) 31 B
(D) 28

13. Vo oI G SrETa fercferere, ST

Ban|

(A) GIRHT @ &R
(B) TR @ A
(C) <IwE ¢ WA

(D) qI99 @ TR

14. SRl #ifZS @R Qe 70X I 2
(A) T
(B) CRISTTY
(C) Wil
(D) ¢t

15. fee i Bras e @i 2010 730

(A) 8
(B) 4
3
(D) 5

[Please Turn Over]
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16. If difference between Compound Interest
and Simple Interest on a certain sum of money for
2 years @ 5% p.a.isRs. 122, find the sum of money.

(A) Rs. 48,300
(B) Rs. 15,000
(C) Rs. 14,000
(D) Rs. 16,000

17. A piece of paper is folded and cut as shown
below in the question figure. From the given answer
figures, indicate how it will appear when opened?

Question Figure:

L]
¢ 010
el o
o
o]

Answer Figures:

(A)

(B)

D)

18. Kala Ramchandran has been appointed as
first woman Police Commissioner of which city?
(A) Lucknow
(B) Gurugram
(C) Hyderabad
(D) Chennai

(6)

16. I @I G0 WS 2 A 5% W

 Garq R @ e A TG 122 DI =, O ANIF0o

AR S 2
(A) 48,800 Gl
(B) 15,000 51t
(C) 14,000 Bt
(D) 16,000 B!

17. <3 TN AYTE ©IG IS 01 28 (ANFONI
R ZETE Nva 2arps foaltes | M s
e N (TS 2 R T4 Forer e b AR

et I ?

2P 5 ¢
o
o}
(o]
Ty Sewpe HaRf ¢
oio
|_© o
o o
A) P15
o o
o o
o
%o
B)
(o]
°o
Oo 00
o) o]
(& o! o
o] o
o o
o o]
o5 |9
® ——
=] [o}

18. T ANGEN (I AT A WfE@A sffers
T e e 2@ e

(A) =T
(B) wFaAN
(C) Qwrm
(D) AR
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Ty X Y =Y
g RV Y AW
19. fA+B=C+Dand A+D>B +C, then
which of the_t})llﬁwing is definitely wrong?
\_(.A’)/B >D . \\!{“{7 N>
(B) A>C
© A>B
(D) C>D

20. Which country is regarded as ‘Land of
Midnight Sun’?
(A) Sweden
(B) Iceland
(C) Greenland

- Norway @?1&,0
NVR
p ZNV

21. The proﬁ;:ﬁvélling a shirt for Rs. 863 is
same as the loss-incurred after selling the same

shhtiyi/l.Whatis the cost price of the shirt?
A) Rs. 747 %rm
N
(B) Rs. 800 L4 @
5

(C) Rs. 750
(D) Rs. 763

22. How many triangles are there in the figure?

| 1 A h \.q
4 b [ 1 g

(A) 1
\,@é/
(C) 24
(D) 20

)

ie

23. Who was the most eminent ruler of
Satvahana dynasty?
(A) Second Pulakeshin
(B) Jaggyokeshi
(C) Eirst Satkorni
) Goutomi Putra Satkorni

RB/SI_Sgt.(

19. W A+B=C+D@3RRA+D>B
&3 ApA (@ Fkesera g= 2
(A) B>D
(B) A>C
(C) A>B
(D) C>D

20. e T @ (Land of Midnight Sun)
@i (D @ 23 2
(A) 2T
(B) SIZENS
(C) T=en®
(D) TASW

21. 863 Sy Wb =6 [{fF s 7@ =re =,
631 By e w2t B o Tk =S 27 | =6ha
G IO ?

(A) 747 Ol
(B) 800 izl
(C) 750 it
(D) 763 Bl

22. Awx Hafbrs Fouk fage wmw?

2
vl

AN

(A) 14
(B)
(C)
(D)

| T O T
= & >

23, Hioare L Y F (& R 2
(A) fadh sfeiced
(B) AR
(C) &% HreFa
(D) CTreSefa SAreFar

[Please Turn Over]
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24. 14785358 — 4158 - 9514 =?
(A) 785
(B) 825
\_(€) 755
(D) 721

25. The treaty of Srirangapatnam was signed
between Tipu Sultan and

(A) Warren Hastings
(B) Cornwalis

(C) Robert Clive
(D) Dalhousie

26. What is the name of the sulphur naturally
found in nature?

(A) Gypsum
(B) Cynabar
(C) Brickstone
(D) Brimstone

27. The lines joining places with equal rainfall
are called

(A) Isorain
(B) Isoheil
(C) Contour Lines
(D) Isohyets

28. The smallest positive integer, which when
multiplied by 392 gives a perfect square, is
(A) 7
(B)
2
(D) 5

(8)
5_ 35841589514 ="
24. 1-:8785 -t
( _'_.J; il =20
(B) 825 o3 j‘)r?y
(©) 755
(D) 721

25, AErAGeE AH foe] FFTOM € I A
Hpwfae Zrafee ?
(A) ST B

«B) et
(C) A HIXS
(D) TR

26. Wg@mmw%ww
(A) et
(B) Ptz
(C) fGFrom
(D) RIeoH

27. 43T TWHE @ @R 7R T IR
TS FaEE W 1 27, O a9 A2

(A) SRAIEEH
(B) SIiEmTRe
(C) T I
(D) SRFIRIRG

28, HaeN qagE PR [ w, W
392 Jiql @¢ TE G0 A9 32201 = |

(A) 7
(B) 3
(C) 2

(D) 5
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29. What will come in place of the ‘?* mark?

7| 4| 5
8 | 7| 6
3 3 | 9
29 | 19 | 31
(A) 6
(B) 4
©
5

30. What is the name of the outermost
membrane of Axon?
(A) Synapse
(B) Axoplasm
(C)_Dendrite
) Neurolema

31. A statement is given followed by some
conclusions. Choose the conclusion which logically
follows from the given statement.

Statement: Mostdresses in that shop are expensive.
Conclusions:

(A) Some dresses in that shop are
expensive.

(B) Handloom dresses in that shop are
cheap.
(C) There are no cheap dresses available

m that shop.
\JD)/;herc are cheap dresses also in that

shop.

32. Ricketsdisease is caused due to deficiency of
Vitamin D

(B) Vitamin B
(C) Vitamin A
(D) Vitamin C

(9) RB/SI_Sgt.(P)/21

29, 2T (2) T A

7| 4|5
8 | 7| 6
3 3 |
29 | 19 | 31

(A) 6

(B) 4

© 3

D) 5

30. SUIHS A IREF F9M0F 719 F e
(A) AR
(B) oiTHtae™
(C) (T7gRs
(D) eI

31. 5 @ 2%y ¢ g P orea =)
AFH7 Tow fda I3 7 I Framefl sz
A2

9 ¢ PO @RS AR wif |
e s

(A) CiRRETa Ry cotmetrs wify )

(B) (RIRPIE TS @1 CAiReafer 31w |

(C) MRFHIS @I FS (AR e
T A

(D) CRIRRICA 81 COIIRPG el 7 |

32, (I fenifite SrerRERe IR &6 @9
e
(A) fBIfE-D
(B) fevifi=-B
(C) fenifi-A
(D) fenifiw-C
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33. Find the odd number pair.
(A) 10478
Mo
(C) 64:48
(D) 80:60

34. Railway Staff College is located at
(A) Mussoorie
(B) Hyderabad
(C) Pune
(D) Vadodara

35. 12 men construct 1-5 km of road in 7 days.

28 men will construct 12 km of roads in how many
days?

(A) 38ddys P{M
\JE&(;ys //}/?;ﬁp/\

(C) 20 days

(D) 28 days

36. Which one of the following is an example
of chemical change?

(A) Preparation of ice cubes from water
(B) Magnetization of soft iron

urning of paper
(D) Dissolution of cane sugar in water

37. Presentagesof AandBareintheratio5 : 6.
After seven years this ratio becomes 6 : 7. Then the
present age of A in years is

(A) 32
(B) 30
< 3

35

(10)

33. W‘H&W f{‘ﬁlml
(A) 104 :78
(B) 9 :8
(C) 64:4 &
) b
(D) 80: 60 \0

34. FHGT IOIF IEG (I TS ?
(A) N
(B) I@Rm
(©€) =
(D) SHA

M N
35. lz\wmﬁﬁ 1-5%@%7‘%2@%%
AR | 28 T & 12 5 718t 0 s ofs T3 2
(B) 24 Wt @)’
(©) 20 W=
(D) 28 =

36. I3 @DH G0 ARG oS TninE 2

(A) & (A IAET AP
B) ERT I

(C) IR W

(D) &= Bfe wdgs 2ea

37. A 9 B-97 IENF [WER WGAS 5:61

7 ARF A G A 679 FOR | A-9F TS
@R TS

25
G 7y
(A) 323 Spd T
(B) 30 3% £ WA N
S
(C) 3393
(D) 35 9q%g
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38. Which Union Ministry implements the
‘Pradhan Mantri Gram Sadak Yojana’ scheme?
(A) Ministry of Panchayati Raj
(B) Ministry of Road Transport and
Highways
(C) Ministry of Agriculture
(D) Ministry of Rural Development °

39. 56% of Y is 182. What is the value of Y?
(A) 330
(B) 364
(C) 350
325

40. India imports most of its crude oil from
which of the following countries?

(A) Iran
(B) Iraq
(C) Ukraine
(D) USA

41. Which hormone controls the tr0p1c
movement in plants?

(A) Heteroauxin
(B) Gibberellin
(C) Cytokinin
(D) Auxin

42, Sunita rode her scooty northwards, then
turned left and moved some distance and then
again rode to her left 4 km. She found herself
exactly 2 km West of her starting point. How far
wards initially?

(B) 2km
(C) 6km
(D) 5km

&KExa
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38, (I @ET TIS ‘AR AN AT G
e AT = ¢
(A) HBTHS TFF
(B) G *33%H @ W HAGF TG
(ORI :
(D) ST a

(11)

b

2,3'

39, Y-47 56% 182 70, Y—mrmm?
(A) 330 ;‘L
(B) 364
(C) 350
(D) 325

40, ©ITCTE RANBHRTSR 74 (B o™ (e FfE
SHRTNRT (o iR e

(A) |W
(B) TR
- (C) XA
(D) W @AY

41, SRR Bfere vom M ® e

e
(A) @B
(B) fermwfm
(C) R
(D) w3 \g 1
42, ot o M M Tewfic san e we |

PR O AN TR @ RGIR (70 | 9391 WRIR
AL T @ 4 R 2t (o787 | TEIH &7 OIF 07

W (3 32 2 R AT g 790, &7 v
Terfice e qav fies e

(A) 4 RfY

(B) 2 fRf

(C) 6T

(D) 5=

mpapers247
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43. What is the unit of electromotive force of a
cell?
(A) Dyne
(B) Volt
(C) Ampere
(D) Joule

44, Acan complete a piece of work in 12 days.
- A and B together can complete the same piece of
work in 8 days. In how many days can B alone

complete the same piece of work?
(A) 28 days .
(B) 18 days
(C) 15 days
) 24 days

45. Which is the longest river of Asia?
(A) Yantze Kiang
(B) Huang he
(C) Mekong
(D) Tigris

46. From the given alternative words, select the
word which can not be formed using the letters of
the given word:

CUMBERSOME

(A) SOBER

(B) ROME

(C) MOUSE
MERCY

47. Whichofthe following Emperor was known
as ‘Kunik’? '
(A) Ashoka
(B) Bindusar
(C) Bimbisar

(12)

43, (DIET SfGDIAT IEH 9T 2
(A) T
+(B) (S
(C) wnifPea
(D) &7

44, Amﬁwuﬁmmammmsm
\G% U2 31 8 AT A IR | B 41 3 e Il

TG FICS AR ? \
| (A) 28 T \/oo”(“/
" (B) 184 %
(©) 15 fiw -,
(D) 24 Tts

45, «ffrrg Afow T I e
(A) TR
(B) AR
(©) =R
(D) Gigfa

46. o= *fioa el i e com =il
WEEHRISE Ik
CUMBERSOME
(A) SOBER
(B) ROME
(C) MOUSE
(D) MERCY

47, FFRe R g A AR e ¢
(A) T T
(B) R
(C) fafera
+(D) TN

(D) Ajatasatru
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48. Famous dance form ‘Salsa’ has been
originated in which country?

(A) Jamaica

(B) Portugal
| (C) Spain
(D) Cuba

49. Select the missing number from the given
responses:

] 50. Haematology : Blood : : Phycology : ?

% (A) Fishes
1 (B) Algac

,_ (C) Diseases
| ) Fungi

51. India’s national carrier, Air India, has been
officially handed over to

(A) Spicejet

\'((zﬂ)udjgo Airlines
) The Tata Group

(D) Jet Airways

(13) RB/SI_Sgt.(P)/21

48. RIS TETEA HEF'T T (I G 2
(A) G
(B) (ogAe
(©) oo
(D) R

49. A3 FHafdrs M BT Soge 7=t

Ry

A) 12
(B) 16
(C) 18
(D) 17

50. Haematology : Blood : : Phycology : ?
(A) Fishes
-~ (B) Algae
(C) Diseases
(D) Fungi

51, ORCOT WO ey, 9nw e
RIS @ WS I TAR?

(A) ™IRHTE0

(B) BTN @nizenzs
(C) Tibt b9

(D) (36 GARSTS

(Exam pa pe [S 247 [Please Turn Over)



RB/SI_Sgt.(P)/21

32. The driver of an ambulance sees a bus
moving in the same direction 40 meter ahead of
him. After 20 second, the bus is 60 meter behind.
If the speed of the ambulance is 30 km/hr, what is
the speed of the bus?

(A) 22 kmfhr
\_LBa/ 12 km/hr
(C) 10 km/hr
(D) 15 km/hr

53. The battle of Plassey was fought in
(A) 1787

1757

(D) 1780

54. The ratio of the leng ‘the breadth of a
rectangular plotis 6 : 5 Hthe breadth of the plot is
34 meter less than the length, what is the perimeter
of the rectangufiar plot?

) 748 m
(B) 408 m
(C) 374m
(D) 814m

58, %th of %—th of %th of a number is 249-6.

What is 50% of that number?
(A) 3734

(B) 3794 ~

3744 Moy
(D) 3749

56. [(12)2X(14)2]+(16);;
(A) 10425 W,v’
(B) 28724 75)'

) 11025
(D) 126 Y\

<6/:{:6, [(12)2 x(14)2]+(16)2 =9

(14)

52, ¢ ™ v @IR i v @y
AT SR AN 40 FEiB1a TATT (TR0 A 1 20 e
sira A O (A 60 BOR PR s T of
wprgreta sfewet 30 Ref/0 2w, s Ty
fSras TS ¢

Pl Ll
(A) 22 Rfit/aet b Sm_,
(B) 12 /9%
(©) 10 RfE/aT
(D) 15 ff/aHt

53, AR T& TS NG LAfRe 2
(A) 1787
(B) 1766
(©) 1757
(D) 1780

54. G ASCHFAPIA G (7 € ATF Sepoife

- 6:5 1AM ETGR 27 el (AT 34 Mo Iu 2w, o

RO

SO SRty ARHm T e 3
: (A) 748 fiiorg >
(B) 408 5z
(C) 374"
(D) 814 TR

55. @3 e Lqg ;-m 331‘*[2496’\5@
WRATT 50% w2

(A) 3734

(B) 3794 "
v (C) 3744 \f,;\"%‘;)
{ | (D) 3749 4\‘4
s b

(A) 104-25
(B) 28224
(©) 11025
(D) 126
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57. Kushe}n Emperor Kanishka has been
transformed into Buddhism from whom?

(A) Vishnugope
(B) Aswaghosh
(C) Agrasen

(D) Birupaksha

S8. If order of the English alphabet is reversed
starting from Z to A, which will be the eighth letter
to the right of ‘O’? _

(A)

B) G
©) F
D) Vv

59. B. C. Roy award is given in the field of
(A) Environment
(B) Journalism

©) '
\ Medicine

60. The description of Samudragup]:a'_s war
campaigns are found from which inscription or
‘Prashasti’?

(A) Mahishwar Prashasti
Allahabad Prashasti

(D) Harishen Prashasti

(15) RB/SI_Sgt.(P)/21

57. A WG IS P L AFAC] AFEANS
IR

(A) Rgasiat >
(B) STTare A
(C) W MNdG‘)\H\'ﬁ\?
(D) Rt | e N
c_?r/\ q D \ '
h(\}t ()V\\',\) QS‘ZA A
*»™

58. Iff WA I Z (AF A 92 FH
Refioeird @A W, S ‘0’47 THME B ZA
@I 3 A2

(A) W
B) G
(C) F
D)V

59. R F1. 3 sz=iw in Aot crem 2
(A) AT
(B) wifrzret
(C) A
(D) Tofreimirg

60. TEOT THeA RN @i oy cop
@IS I T e

(A) wwR oy
(B) 9#IRAM 2wy
(C) TP emify
(D) 2 2mify

(C) Nasik Prashasti
&Exs
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61. If a mirror is placed on the line MN then
which of the answer figures is the rightimage of the

given figure?
Question Figure:

.
N

Answer Figures:

(A)

62. A train, 100 meter long, moving at a speed
of 50 km/hr crosses a train 120 meter long coming
from opposite direction in 6 second. The speed of

the second train is
W
82 km/hr
(C) 60 km/hr
(D) 70 km/hr

. .

(16)

e o 8

a
m |l

ARy Tepe B ¢

(A)

(B)

©

(D)

e

TG
(A) 74 f/2t
(B) 82 Rfat/=e%y
(C) 60 /9%t
(D) 70 ff5/9%t

& Exampapers247
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61. T MN (@1 TART G0 ST 431 27, B3
fice wfEks fBraz 7% afeRE @’ 2= e

62. 50 R¥fE/aBr sfeaat s=m 100 o= ad
G3f6 G RoIe fa ceire e 120 B i @3
G 6 G Sy 37 | ey (Gaa sfer
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63. Indiahaslatinched which operation to bring
back its natiofials from Ukraine?

Operation Ganga
(B) Operation Yamuna
(C) Operation Bharat
(D) Operation Saraswati

64. You come to know that your boss is writing
a false report to the highest authority. What would
you do?
(A) Ignore and keep quiet.
(B) Discuss with your colleagues and then
take step jointly.
(C) Meet your boss and directly protest
against his actions.
Somehow report the incident to all.

65. (—251x21x-12)+?=15813. Find the

value of ‘?°.

400

(©) 250
(D) 300

66. Which scientist among the names given
below is associated with the discovery of the
radioactive element ‘Radium’?

(A) Michael Faraday
(B) Albert Einstein

(C) Issex Newton
\.MM:; Curie

67. In a certain code ‘MOUSE’ is written as
‘PRUQC’. How is ‘SHIFT’ written in that code?

(A) VIIDR
(B) VIKRD
©) R

RB/SI_Sgt.(P)/21

63. SIS TP TOLE (27 Slgediiioe R
SN &) (@ AT SIeAives, ofF /I z5

(A) ST oot
(B) SI2NCZIR Tt
(C) T SITS
(D) oAz 27!

64, T P FINCS AN @ (o Teefom g
Twon 6o 43t eyt Rt foew, oft &
AW

(A) Trormt AR € M AP |

(B) S FEIHO@ K GATA I
SR ATTSIE AT 2429 I3 |

(C) oo a0 o7l IF AR o7

- PIeEd S A |

(D) ARSI WAl T Ta@ A

| &

\.J"-.._,.?\ P

X

. /
(-251x21x~-12)+7=15813 f° -
_F
(A) 150 . Kﬁ?ﬁ -
(B) 400 ﬂkﬂ KE;(

(0) 250
(D) 300

66. (ouFy ‘TN wRew Feme @w
i 71N @ e e

(A) W TS

(B) IR WiZo0134

(C) ST fAeon

(D) G FA

67, 9o Fwfew fFfare ‘MOUSE’ z&
‘PRUQC’ | ‘SHIFT-93 T3S J T ?

65. mwmwﬁcﬁrw:

(A) VIIDR ADV 5%
(B) VIKRD ¢ Vs
(C) RKIVD B )

(D) VKIDR AN

VKIDR
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68. Which British Governor introduced
‘Panchshala Bandobast’?
(A) Welesley
(B) Warren Hastings
(C) Cornwalish
(D) Willium Bentinck

69. The largest country of the world by
geographical area is
(A) Vatican City

(B) Chi
Mﬁa

(D) Australia

70. 3148877 ="

(A) 43

71. The land form ‘Bajada’ is found in which
region? R
(A) Mountain Peak areas
(B) Plainland '
(C) Plateau region
(D) Desert region

72. Select a figure from amongst the answer
figures which will continue the same series as
established by the five problem figures.

Problem figures:
¢HIATHH )”(]( (
Answer Figures:
¢l el
wrl™ ) o ~ M
a @B © O

& Exampapers247

(18)

L]"”?
o /i
N
00

® 73 N
() 63 | Q’/\é
_ §3 o

68, Gt R e G TS 26
FENT?
(A) SETFER
(B) € T &\ﬁ%
W
(D) TR PO g
/

70. 3148877 =" /X;?XG\
(A) 43 % Yo,
B) 73 Y
© 6 : % ;
(D) 53 S R s zxf/
M f?g
71, ‘IEm’ e gRwed W wwrE s
MR T ¢ :
(A) */reR g St
(B) ANCAGRICS
(C) WegR wewza

(D) = Gt

72. 7Oy T 51 Bw (e wiw | Hfdw Bl

BRI @A &y e sl Braz Az o172
- fomse e = |

e foaafe ¢
COCTHD YL e
DC 1 OC | ec

Oy TG BarfE s

C¢ ¢ (‘”(c“’(‘

N N N NS

UMD | A

©
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DDttt || ot ooy
8. Which of the conclusions logically
follows from the given statements? Tme Ly i o e ol 1
Statements: All dolls are windows. All bottles are
windows. All cars are bottles. 37 3 TG 2GR WA | 79 (AT G- m{@
Conclusions: MER e A |
1. All cars are windows,\” Py ¢ =
1. Some cars are dolls. "\ % 1. g SN2 S | \—/ Qﬁ \)
1. Some windows are cars. 11. Reg i sgae | @ / vl
(A) All follow. 111, f3g wate aifde | @ y
(B) Only Il and III follow. (A) TR g w7 A\ \/
(C) Only I and II follow. ~ .
\,«Dﬁ)?\lly 1 and T follow. (B WL IS5 e
(C) oY1 «3e II 2%l 331 17 |
(D) oy [ 3. 11 &%t %21 14|
74. Caracas is the capital of which country? 74, WRF @ oG IS 2
(A) Equador (A) @R
(B) Ve-nf:zu_cla (B) (STETE
(C) Philippines (©) Rt
() heu (D) i
75. Ildentify the diagram that best represents 75. i Bl el Ao ol i
the relationship among the classes given below: oo o BeFBACA I 1 AW 2
Animals, Land animals, Sea animals o, A A5 2o, Wt REAERA 2o
(A) @)
® (O) )
o Q0D
® 2D

& Erampapers24] e rmow
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76. Who is the author of ‘The Republic’?
(A) Homer
(B) Aristotle
(C) Socrates
(D) Plato

77. Who is the inventor of Barometer?
(A) A__;-_Lﬁdiﬁ’ﬁuvogadm
MAB*""'forﬁcelli
(C) Pristle
(D) Alexander Graham Bell

78. Select the missing number from the given

responses:
@
) ® O |
M)
@ \od\ ;

(A) 97

(B) 9107
) 1097

(D) 907

79. Which city s known as “Electronic city of
India’?
Bengaluru

(B) Hyderabad
(C) Mumbai
(D) Gurugram

78. S5z HABrs 2RI AT TS E SN
IO
@
©JOJO

(A) 97

(B) 9107
(C) 1097
(D) 907

79, I 128 “SRSR ARG R =T 1w ~Af?
(A) @=fepe
(B) wmram
(C) Yy
(D) o®waN

& Exampapers247



80. If the numerator of a fraction is increased
by 200% and the denominator of the fraction is
ilicreased by 120%, the resultant fraction becomes
i What is the original fraction?

A =

yi/
4
) 15

5
(D)E

81. From which of the following sectors, India
earns most of its foreign currency?

(A) Spices
\_B) Tea

(C) Jute

(D) Tobacco

82. Sir Thomas Roe came to which Mughal
Emperor’s court?
(A) ngzeb
Jahangir
(C) Akbar
(D) Shahjahan

83. The average price of 80 mobile phones is
Rs. 30,000. If the highest and lowest price mobile
Phones are sold out, then the average price of
temaining 78 mobile phones is Rs. 29,500. The
Cost of the highest price mobile is Rs. 80,000. The
€0st of lowest price mobile is

(A) Can’t be determined

(B) Rs. 15,000
(C) Rs. 18;
Rs. 19,000

—.

(21)

& Exampapers247

80. mmwmﬁwzoo%wm

120% 3% w51 e 27 2. | 31 e

6 I

®) = er v
11 3P
4

© s
5

(D) 7

81, M (wafl (U SRS A (2t LA

RB/SI_Sgt.(P)/21

v

T4 oY I 2
(A) &t
(B) ot ,’9\;
(C) =iip rvﬁ\qq,
A0
(D) Sz wiﬁ

82. FIT DI @ @I (ol TG AT

I ? ‘\»m |
(A) SezErTE 7%
(B) Wi “'”7{
(C) TiF3g
(D) *Ir@rR

83. 80 (N1RIZe TR 1w wiw 30,000 Bret | af
I @ T R (Naizet v Rarw 20w 11w, o3
AR 780 E@IRIZE @R 1S W W 29,500 Bt |
AL IR (IRZET Paia i 1 80,000 5R0 3,
O3 AT I Wi (ke cwiioe wiw ww e

(A) A =1 9w 7w
(B) 15,000 Bt
(C) 18,000 Bt
(D) 19,000 it

[Please Turn Over]
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84. In clertajn years a sum of money is doubled
itself at 6 E% simple interest per annum, then the
required time will be

(A) 8 years

(B) 102 year:
16 years

(D) 12% years

85. The figure given on the left hand side is
folded to form a box. Which boxes can be formed
from the options (1), (2), 3) and (4)?

!f ] Imdm

. n @ 3) C))

(A) 2and3 only
(B) 1,3 and 4 only
(C) 2 and 4 only
(D) 1and 4 only

86. 10% discount and then 20% discount in
succession is equivalent to total discount of
(A) 24%"
28%
(C) 30%
(D) 15%

(22)

84. (A G0 TS @& g5 WS s
ei.% s e TRt 2, T A8 v Fo e

A s PR
(v
(B) w% ST ﬁ Ve
25
(©) 16723
1
(D) 125 T

85. Wﬁﬁ‘lﬁm@mmw%w
@3 3 cefR T 1 (1), (2), (3) 43R (4)-4F T
I @ CofR A I

g uim

1n @

(A) 29 3
(B) 1,349k 4
(C) 29k 4
(D) 14k 4

10 P =

-—

86. BoreIf 10% @3] 20% R (A T T
WS BG ?

(A) 24%
(B) 28%
(C) 30%
(D) 15%

QExampapers 247
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87. The most arid place on the earth is situated 87, o|fif wwey gal @R T TRfES?

in which Continent? (A) W STl
(A So merica (B) wiifEsst
Africa

: (C) «feral
(C) Asia - v s
(D) Australia RVt e
L
v
88. Pointing towards Rita, Nikhil said, “T am 88. Wﬁwmﬁg@ fafa= w,(;wg?eam
the only son of her mother’s s?n”. How is Rita (2EF GG (= | ICIRGE]
related to Nikhil? (A) QOISR /@
(A) Cousin (B) iz /el
(B) Nieee™ ' (C) i
\,éedl.:l( (D) ot
- (D) Mother '
89. Who is the author of ‘The Soul of India’? 89, “sfred Wl (The Soul of India) Qb
(A) Satish Chandra Samanta WS 7
(B) Bipin Chandra Pal - (A) O ATE
(C) Rishi Aurobindo (B) R vE AT
(D) Umesh Chandra Bandopadhyay « |, ©). 4 R

(D) TTIbE ICHAGE

ural nu - 7 (Natural number)
90. Find the sum of first 30 natural numbers. | @1:(-:,;5{ ﬁ;:’?iioﬁ wqe FRYE (Na \
(A) 463 . ' ! ¢

\( AN V\? 7
(A) 463 % @7

(ﬁ)ﬁ : - o (B) 468
. ( )465 (C) 470

(D) 465
91. Who is the director of famous movie 91, RIS GaAlbE TN -4 ARGETS &2
ot | | (A) wIeiRef
(A) Antonioni . (B) w2 SR
(B) Andrei Tarkovski ©
(C) Cristoph Kisloski - e et
(D) Akira Kurosawa (D) N1 FEe

& Erampapers24T e T ove
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92. Who is the present speaker of Lok Sabha?
(A) Biman Banerjee

) Om Birla

(C) Meera Kumar

(D) Venkaiya Naidu

93. Divide 81 into three parts so that % of Ist,
% of 2nd and % of 3rd are equal.

l
(A) 530, 27,24
(B) 27,18, 30

(C) 36,2
18,27, 36

q 1

94. The famous painting named ‘Damayanti’ is

creation of which famous painter?
(A) Rabindranath Tagore
(B) Nandalal Bose
(C) Abanindranath Tagore
(D) Raja Ravi Barma

95. Which of the tworatios 17 : 18and 10 : 11is

\""\%
T

(C) 1978
(D) 1996

(24)

92. IS ISR AP (F?
(A) Tim TS
(B) ¢ fgl
(C) Tt T
(D) (ST 7RY

93. 81- v fEFSIs ©Ifl Al TS &N
e %waﬁ,ﬁ%Wﬂ L ot ax g8 o
-} e T 2 | ’

(A) 30,27,24
B) 27, 18,30
(©) 36,26, 18
D) 18,27,36

04, THES) A B @i Rayre Fid 3
(A) TG IF ‘
(B) 7@ T,
(C) SRR ST
(D) et afF A

95, 17:18 €2 10 : 11, €2 Y6 SO I
@I JZTe?
(A) e a1 ;e 77|
(B) 10: 11
(C) 17:18
(D) %0 = |

96, TS A SRS TR SAelcrd! T
UEYE 1 T ¢
(A) 1990
(B) 1992
(C) 1978
(D) 1996

www.kolom.in



. 97. 72? ml of amixture contains milk and water
in the ratio 7 : 2. How much more water is to be
added to get a new mixture containing milk and

waterin theratio7:3? _—
(A) 52
81 ml

(C) 60 ml
(D) 71 ml

98. Which is the capital of Meghalaya?
(A) Kohima
(B) Imphal
\AC) Shillong
(D) Aizol

99, If + =X, — = +, X =+, + = —, then which is
the correct equation out of the following?
(A) 18x6—-4+7x8=47
(B) 18+6+4-2+3=22
(C) 18 + +3=26
(D) 18-6x7+2+8=63

100. Full form of RNA is
(A) Rare Nucleic Acid

W Nuclear Activity
Ribonucleic Acid

(D) Random Nuclear Acid

(25)

o\
97. 729 fifer «3f% iz 7y @ wrerm Ot 7.2
e ﬁﬂﬁﬂﬁwmmﬁm‘fqmgﬁa

RB/SI_Sgt.(P)/21

GeANS 7:3 707 g1a9r e~ 7
(A) 52 ffn * %
+(B) 81 fify {";};\»"b‘%ﬁ, Y
(C) 60 farfar an /b(,,}
(D) 71 fif# A Vi
o> X

98, (NIFRE AR AN I
(A) iz
(B) TF4
(C) Mere
(D) SRew

99. 'ﬂﬁ+=>(,—=+,x=+,-:—=_§§[,wﬁ-cmg
@G g6 A AN 2
(A) 18%6,4%Tx8=47
(B) 18+6?}4—2+3=22
(C) 18+6-4x2+3=26
(D) 18-6x7+2+8=63

100. RNA-7 5=} eife Fe
(A) @R Rl witte
(B) Reis e wwebfeh
(©) FREfERHs wiie
(D) Wi EfFmR e
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